m110
Chapter 3.2 and 3.3
Name______________

1. A soda pop firm finds that producing 100 cases of pop costs them $300, and producing 150 cases costs them $420.  Find the slope of the line that connects these points (use production quantity as your “x” variable).  What are the units of the slope?  Also, fill in the blank: producing one more case (above what they’re already producing) will cost them $_____.
2. Using point-slope form, find the equation of the line between those two points.

3. Using point-slope form, find a somewhat different equation for the line between those two points.

4. Using algebra, transform your answers from #2 and #3 into slope-intercept form.  Do the results match?  Interpret the y-intercept.
5. Calculate the slope of the temperature on Wednesday, 2007-02-21 using the graphic provided.  What are the units of the slope?

6. Calculate the slope of the average high temperatures in our region, using Feb. 13th and Feb. 27th as your data points.  What are the units of the slope?

7. For the DaimlerChrysler stock data, calculate the slope from the sharp bend at 11:20am to the peak at 11:55am.  What are the units of the slope?

8. Also calculate the slope from the peak at 11:55am to the low at 12:15pm.

9. In the “Casualties of Wars” graphic does the 671846 US wounded in WWII include the 405399 US deaths?  Give a quantitative reason why or why not.
10. From the information shown on the graphic, find the number of US deaths in the Korean war.

11. For simplicity, we’ll collapse WWI to 1919, WWII to 1944, the Korean war to 1952, the Vietnam war to 1970, the Persian Gulf war to 1990, OEF to 2003, and Iraq to 2005.  Draw a scatterplot of % fatal casualties as time goes on.

12. Using WWI and Korea, find the equation of a line in point-slope form for % fatal casualties.  What is its prediction for Iraq (in 2005)?  How does that compare to the actual figure?

13. Repeat, but use WWII and Vietnam.

14. A side project idea, more historical/political/technological than mathematical: why are the % fatal casualties so different in the Persian Gulf war, OEF, and Iraq?
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